

# Converting Celsius to Fahrenheit (G)

Estimate or convert the temperatures.

$-7\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-85\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-38\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$63\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$86\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$3\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-86\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$17\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$19\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-78\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$71\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-8\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$2\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-55\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$15\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-53\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-82\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$25\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-27\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$30\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-52\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$49\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$100\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$40\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$3\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$67\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-2\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$-2\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$34\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$

$79\text{ }^{\circ}\text{C} = \text{\_\_\_\ }^{\circ}\text{F}$